
Plusrechnen (bis 5 000)

Aufgabe 1

1. 2 033 + 1 756 =   

2. 1 732 + 1 443 =   

3. 1 498 + 530 =   

4. 1 455 + 800 =   

5. 2 019 + 1 853 =   

6. 1 482 + 1 362 =   

7. 1 289 + 1 201 =   

8. 1 898 + 1 536 =   

9. 2 214 + 1 784 =   

10. 1 283 + 536 =   

Aufgabe 2

1. 2 196 + 738 =   

2. 1 646 + 857 =   

3. 2 157 + 1 370 =   

4. 947 + 810 =   

5. 2 267 + 819 =   

6. 1 303 + 1 270 =   

7. 1 847 + 1 664 =   

8. 2 288 + 2 097 =   

9. 2 079 + 820 =   

10. 1 671 + 1 636 =   

Aufgabe 3

1. 1 902 + 1 899 =   

2. 2 002 + 675 =   

3. 2 393 + 1 797 =   

4. 1 422 + 1 071 =   

5. 1 944 + 1 517 =   

6. 2 477 + 1 403 =   

7. 2 243 + 1 775 =   

8. 1 691 + 1 675 =   

9. 2 153 + 2 096 =   

10. 2 100 + 1 416 =   

Aufgabe 4

1. 2 068 + 652 =   

2. 1 564 + 1 222 =   

3. 2 221 + 900 =   

4. 1 966 + 1 625 =   

5. 1 980 + 1 949 =   

6. 1 614 + 564 =   

7. 2 018 + 1 652 =   

8. 1 037 + 1 002 =   

9. 2 448 + 525 =   

10. 2 275 + 2 086 =   
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Plusrechnen (bis 5 000)
| ANTWORTEN

Aufgabe 1

1. 2 033 + 1 756 =  3 789

2. 1 732 + 1 443 =  3 175

3. 1 498 + 530 =  2 028

4. 1 455 + 800 =  2 255

5. 2 019 + 1 853 =  3 872

6. 1 482 + 1 362 =  2 844

7. 1 289 + 1 201 =  2 490

8. 1 898 + 1 536 =  3 434

9. 2 214 + 1 784 =  3 998

10. 1 283 + 536 =  1 819

Aufgabe 2

1. 2 196 + 738 =  2 934

2. 1 646 + 857 =  2 503

3. 2 157 + 1 370 =  3 527

4. 947 + 810 =  1 757

5. 2 267 + 819 =  3 086

6. 1 303 + 1 270 =  2 573

7. 1 847 + 1 664 =  3 511

8. 2 288 + 2 097 =  4 385

9. 2 079 + 820 =  2 899

10. 1 671 + 1 636 =  3 307

Aufgabe 3

1. 1 902 + 1 899 =  3 801

2. 2 002 + 675 =  2 677

3. 2 393 + 1 797 =  4 190

4. 1 422 + 1 071 =  2 493

5. 1 944 + 1 517 =  3 461

6. 2 477 + 1 403 =  3 880

7. 2 243 + 1 775 =  4 018

8. 1 691 + 1 675 =  3 366

9. 2 153 + 2 096 =  4 249

10. 2 100 + 1 416 =  3 516

Aufgabe 4

1. 2 068 + 652 =  2 720

2. 1 564 + 1 222 =  2 786

3. 2 221 + 900 =  3 121

4. 1 966 + 1 625 =  3 591

5. 1 980 + 1 949 =  3 929

6. 1 614 + 564 =  2 178

7. 2 018 + 1 652 =  3 670

8. 1 037 + 1 002 =  2 039

9. 2 448 + 525 =  2 973

10. 2 275 + 2 086 =  4 361
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